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o YT T W [ 59 79797 # FRa TE 16 T
g7 18 &l
Please make sure that the printed pages in this

question paper. are 16 in number and it contains
18 questions.

o F97-UF H gIfe &1.#1 &R [a4 T4 FIE TR 79T AT & 5H
T-YITal & JeI-J% T [o7E |
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o FUIT 97 B T [T@T & & G T8, F97 & HHI% G797
for@|
Before beginning to answer a question, its Serial
Number must be written.
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o FTR-Ytqer & dia 7 @rell gA/94 7 8ig

Don’t leave blank page / pages in your answer-
book.

o IW-Yfdwr & GfaRes &5 o die @ Al o
STaIFATAR &1 ferd o for@r 3o 7 e
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o AT 19T T To FIT-TF GT 3G9 foid |

Candidates must write their Roll Number on the
question paper.

o FYAT F9l FT T a4 # Y4 T€ GrAroad &l o [ g97-0 g
7 Fel & giterm & GuRI=T 3 a5 8 FE M grar @En
&1 fFar T
Before answering the question, ensure that you
have been supplied the. correct and complete

question paper, no claim in this regard, will be
entertained after examination.

HTHTT 59T :
() a4 g siftar &1

(i) 59 F9T-99 H P 18 F97 & S GK @O : &, &,
& 7eT § 7 [ &l

(iii) @UE - & & F97 G&IT 1 4 qRE (i-xii) TGS FHR
& 997 & 7% 797 1 97 #T &l
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(iv) @UE - T 7 J97 §&IT 2 § 10 T% HdTY THIAS
797 & T0% F97 2 1% P &

(v) @UE - 7 797 G 11 T 15 T% Y THRIHB
797 8| 7% §97 3 oI% T &/

(vi) @Y - T H F97 &7 16 & 18 % 314 FIAS
797 8| 7% 797 5 3% &7 &l

(i) F97-UF 7 GHT &7 T HIE 35T 781 81 T 5 S
gra Tt 31 FTRIHE H9AT 4 SNaRE T FeTT 41
9T 81 OF 7971 8 @ oien e O & 797 Hr 81

General Instructions :
(i)  All questions are compulsory.

(ii) This question paper. contains 18 questions,
which are divided into four Sections : A, B,

C and D.

(iii) Section - A contains question number 1
having twelve (i-xii) objective type questions and
carry 1 mark each.

(iv) Section — B contains question numbers 2 to

10 of very short answer type questions and
carry 2 marks each.
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(v)

(vi)

(vii)

(4) 2930/ (Set : A)

Section - C contains question numbers 11 to
15 of short answer type questions and carry
3 marks each.

Section — D contains question numbers 16 to
18 of long answer type questions and carry
5 marks each.

There is no overall choice. However, internal
choice is given in all long answer type
questions carrying 5 marks each. You have
to attempt only one of the given choice in
such questions.

gug - A
SECTION - A

(Fgies wee)

(Objective Type Questions)

f=fafes wert 88 fdw amft 9 | 9 9rer =

T ST & 7 1
(A) foaee

(B) &g

(©) W

(D) (&) &R (B) ST
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Which of the following animals bears both

male and female reproductive organs ?
(A) Cockroach

(B) Earthworm

(C) Sponge

(D) Both (A) and (B)

(i) fr=faRag § & aF-a1 % ST v & 7 1
(&), ¥R (B)
(C) oW (D) SYII<h EHT

Which of the following fruit is partheno-

carpic ?

(A) Pomegranate
(B) Banana

(C) Mango

(D) All of the above
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(i) fr=fafad & @ o Remsie w/Eeu & g
TAE ? 1

(A) 2fueq
(B) U=
(C) (A) T (B) T

(D) SHIFd ¥ BE &

Which of the following nourishes the

developing pollen grain ?
(A) Tapetum

(B) Endosperm

(C) Both (A) and (B)

(D) None of the above
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(iv) O GRER & Teh dISq= o1 § e T &l o=
BT e, o FEAE | 1

In Monocots (grasses) the embryo possess
only one cotyledon, which “is called

as Y :
(A) Scutellum
(B) Coleoptile
(C) Coleorhiza

(D) None of the above
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(v) WEEU & WEHT § @6 & dded |

TITIRROT &F WAl @l oo Fed 2 | 1
INERELER!
(B) TRITOT

(C) (A) T (B) 3T

(D) STEd ¥ HE @

The mechanism of transfer of pollen grains
from .anther to - stigma of a pistil is

called ............ .

(A) - Fertilization

(B) Pollination

(C) Both (A) and (B)

(D) None of the above
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(vi) ITH ¥ BN Gl F 95T AT B ST T w7 1

(A)  TENRT

(B) Fe< SFIIS Ud Ty S
(C) A\ TT AH
(D) ¥ |t

In human female external genitalia

include .............. ;

(A) Mons pubis

(B) = Labia majora and labia minora
(C) - Hymen and clitoris

(D) Allof these

(vii) Fr=foRad § ¥ o sdes o & 7 1
(A) STRIERT
(B) B U
(C) HEER
(D) TH ¥ FIg T
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Which of the following is secondary

producer ?

(A) Herbivores
(B) Green plants
(C) Carnivores

(D) None of these

(viii) TRT & STrawved xferq o fdaw & 7 1
(A) 448
(B) 90
(C) 14

(D) 114

How. many Biosphere Reserves are in

India ?
(A) 448
(B) 90
() 14
(D) 114
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(ix) A F T (T@ & ) &1 @ aw fafagl 1

Expand the term STD.

(x) =RH G & GRem faiag 1

Define climax community.

(i) STATeT SEpEd & AR M| 1

Define Algal Bloom.

(xii) ‘CFC (dlo @0 Hio) & G 7 g 1
Expand CFC.

gus —
SECTION- B

CIRREERNER L))

(Very Short Answer Type Questions)

2. faged (Fagaem) W dfera femult fafex| 2
Write a brief note on Emasculation.
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3. 799 | g fRwoy fafaw| 2

Write a brief note on Parturition.

4. ‘I guem e &7, feuft Fifm| 2

"Biotic community is dynamic", comment.

5. JTgaiees fafaedr @ dfee fewf fafeg) 2

Write a short note on Genetic Diversity.

6. 3-d%H & AR A ST 471 990 -2 G&Y F fafa| 2

What do you know about e-wastes ? Write

briefly.

7. T W fewur foiagl 2

Write a note on Deforestation.

8. e d Yogex | =il qHATEY| 2

Differentiate between Natality and Mortality.
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9. ‘O % WEW ¥ URREfs o ¥ denm @1 Wi
BHYM MR § SR & AR (&ren) gar 27 femoq
farf| 2

"Pyramid of Number in a grassland is always

upright." Comment.

10. SARHT ST & A9 &7 aTcqd & 7 2

What do you mean by Hydrarch succession ?

gus -
SECTION- C
(g IR |9
(Short Answer Type Questions)

11. Gyt W R fewef fofag| 3

Write a note on Geitonogamy.

12, 3fd: TAier IRe & IR § dag § ot 3

Describe in short the Intra Uterine Devices.
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13.

14,

15.

16.
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TS W TRRYTD T § BIEhRE Ok & aalpd qisd
EAREEICEIER] 3

Draw a simplified model of Phosphorus Cycle in

a terrestrial ecosystem.

EERCICEE RN F A T LIS el 3

Write a short note on Biomagnification.

g @l W) Gy el fafe | 3

Write a short note on Organic Farming.
Qug — ¢
SECTION- D
(el STTeTeR e )

(Long Answer Type Questions)

g fafdaar @1 wftm we % [t SuE &1 aui
it 5

Describe various methods of Biodiversity

conservation.
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SEEI

OR

qIRa= § HE =h & au S|

Describe the carbon cycle in an Ecosystem.

17. THAY qUSH ¥ ST T8 &l qu Hiord | 5

Describe about . Ozone Depletion in the

stratosphere.

3T

OR

aTg TN SR IFH! AhH 6 aR § oy

Write about Air pollution and methods of its

control.

18. T Tl § SO HishdT &1 g Sty | 5
Describe the process of Oogenesis in the human
female.
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SEEI

OR

SIS T IgYUrl & IR § SATT 7 A & 7

What do you know about Apomixis and

Polyembryony ?
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